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Fat soluble vitamins are:

a. C&D ; b. B&D

c. A,B&D d. A, D, E&K
Which of the following is not a plasma protein?

a. Fibrinogen b. Albumin

¢. Prothrombin d. None of the above
In the clotting mechanism pathway, thrombin activates factors...............
a. XIVIIV b. XIIXX

c. VIIXV d. IXXXI

The first heart sound is caused due to the closure of:

a. Semilunar valve b. AV node

¢. Aurio-ventricular node d. SA node

Which blood vessel supplies blood to the heart?
a. Pulmonary vein b. Pulmonary artery
c. Aorla d. Coronary artery

A membrane potential is the difference in electrical charge between:
a. Potassium and sodium ions b. The inside and outside of the cell
¢. Phosphoric acid and glycolipid layers  d. Resting and action potentials

Aquatic reptiles are:
a. Ureolelic b. Ureotelic over land
c. Ammonolelic : d. Uricotelic

The hormone that promotes reabsorption of water from glomerular filtrate is:
a. Oxytocin b. Vasopressin
c. Calcitonin d. Relaxin

Maximum amount of carbon dioxide transportation occurs as:
a. Dissolved in plasma b. Carbaminohaemoglobin complex
c. Bicarbonate d. None of these

Which of the following is called inspiratory muscles in mammals?
a. Radial muscle of diaphragm b. External intercostal muscle
c. Internal intercostals muscle d. Pleural Muscle

Which gastric cell secretes pepsinogen?
a. Goblet b. Parietal
¢. Oxyntic d. Chief cells
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